Diffusion Wave Model

dynamic wave

dynamic wave

2. Diffusion Wave
2.1 Diffusion Wave
1) @
1V 0 n?|V |V
~N 9 g |4| ~0 Q)
g ot oOx yA
Vv y A Q n
t
2.2
1) @
%:V +a -C vy (3)
dt
N n2
1ldv o dy o+ [\4/[\/20 (4)
gdt c dt yé
dx
2 Vg v 5
at (5)
nZ
1dv o dy ) [\4/[\/ -0 (6)
gdt c dt yé
.1V 1V’
S =ty P A = 7
0 T R

diffusion wave

diffusion wave

OA O
— 4 _Q — (2)
ot 0x
So g
t D, Dynamic Wave
T ®_
. —= X
> :
—_—
t w, Diffusion Wave
T le_
—_— X



-1

®) @)

diffusion wave

3. Diffusion Wave

-2

diffusion wave

15cm 10 30cm
1/3
27/1 000 0.0090s/m
3
0.0236m°/s/m 2.0cm F,=2.64
-3
4,
m
Diffusion Wave
37.078
1 \V4
B ! I
T 17 v 1
Zgump No.7 No.8
No.6
/ N o Noa No.4 No.5
0.50 |« LIA 7@1.00 ;|4 2.50 »
-2
0.20 0,20
015 =—Obsenved  (Nool) 0.15 —Obsened (No.1)
% ==Calculaled (No.2) E —=Calculated (No.4)
% 010 ® Observed (No2) | = o010 ® Observed (No.d)
7 )
] o
0.05 0.05 ," e )
[ \\
! 1 ) e )
L] -0--09 0 L]
0.00 0,00 l
0 10 20 30 40 S0 6l 0 10 20 30 4 30 60
Time (sec) Time (sec)
0240
- 2
0.15 =—Observed (No.l) 0.20
—_ Caleulated (No.c —Calculated
=] == Calculated { No. | -
B alculated { No.6) _ 015 b No2 \.\_.3 (=34 505¢cc)
= o ® Obsenved (No.6) =) L) Nod
T hl :\'.;_.l/\ o5 ® Observed
= g 0.10 -0 (I 34.50sec)
o
0.05 " 3 \
T ’ 5 \ \ 0.05
- ° ’\ No.6 0.7 Nok
[ -0--0--9o-¢ o © [ ® .
{}(}“ {J,l"] L L L 1 L L i 1 L 1 L 1 L L L
0 10 20 30 40 30 60 0 1 2 3 4 5 6 7
Time (scc) Distance (m)
-3 t=34.5s





